
 
 

1 | Page                       www.appolosupport.com    PH: 9500099706        

 

 

TNPSC GROUP I test batch – 2020 
TEST XIII – MENTAL ABILITY & CURRENT AFFAIRS (jul, Aug) 

 
1. Which space agency has launched the “Dragonfly Mission” to explore saturn‟s 

largest moon – titan? 
a. ISRO  b. ROSCOSMOS  c. NASA  d. CNES 
gpd;tUk; ve;j tpz;ntsp Muha;r;rp epWtdk; ill;ld; vd;w rdp fpufj;jpd; 
kpfg;ngaupa epyit Muha “Dragonfly Mission” vd;Dk; jpl;lj;ij njhlq;fpAs;sJ? 
a. ISRO  b. ROSCOSMOS  c. NASA  d. CNES 

 
2. The Prasar Bharathi has signed MoU with which IIT institute for research 

collaboration in newly emerging techniques and broadcasting related areas? 
a. IIT Kanpur  b. IIT Chennai c. IIT Delhi d. IIT Kharagpur 
Gjpjhf tsu;e;J tUk; njhopy;El;gq;fs; kw;Wk; xspgug;G njhlu;Gila gFjpfs; 
Nghd;wtw;wpy; ,ize;J Muha;r;rp nra;tjw;fhf gpurhu; ghujp epWtdk; ve;j IIT 
epWtdj;Jld; Gupe;Jzu;T xg;ge;jj;jpy; ifnaOj;jpl;Ls;sJ? 
a. IIT fhd;G+u;  b. IIT nrd;id c. IIT nly;yp d. IIT fhuf;G+u; 

 
3. The scientist of which country have developed a concept named Ramanujan 

Machine? 
a. U.S.A   b. Israel  c. Japan  d. Russia 
ve;j ehl;il Nru;e;j mwptpay; mwpQu; “,uhkhD[d; ,ae;jpuk;” vdg; ngauplg;gl;l 
fUj;jhf;fj;ij cUthf;fpAs;shu;? 
a. mnkupf;fh  b. ,];Nuy;  c. [g;ghd;  d. ,u~;ah 

 
4. Match the following: 

A. World day for International justice  1. July 17 
B. Nelson Mandela International day  2. July 18 
C. 159th Income Tax day    3. July 24 
D. National Broadcasting day   4. July 23 
 
  A B C D 
a.  4 3 2 1 
b.  1 2 4 3 
c.  1 2 3 4 
d.  3 4 2 1 
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nghUj;Jf. 
A. cyfshtpa ru;tNjr ePjp jpdk;  1. [_iy 17 
B. ru;tNjr ney;rd; kz;Nlyh jpdk;  2. [_iy 18 

C. 159-tJ tUkhd tup jpdk;   3. [_iy 24 
D. Njrpa xspgug;G jpdk;    4. [_iy 23 

  A B C D 
a.  4 3 2 1 
b.  1 2 4 3 
c.  1 2 3 4 
d.  3 4 2 1 

 
5. Who has been appointed as the chairman of the Tamilnadu Arasu Cable TV 

Corporation (TACTV)? 
a. Rajiv Jain    b. K. Radhakrishnan  
c. Umesh  kesavan   d. Lokeshkumar 
jkpo;ehL muR Nfgps; btp fhu;g;gNu~d; (TACTV)’d; jiytuhf epakdk; 
nra;ag;gl;ltu; ahu;? 
a. uh[Pt; n[apd;   b. K. uhjhfpU~;zd; 

c. cNk~; Nfrtd;   d. NyhNf~;Fkhu; 

 
6. Which country has launched the world‟s largest Burn and Plastic Surgery Institute? 

a. United States  b. India  c. Bangladesh  d. China 
cyfpd; kpfg;ngupa jPf;fhak; kw;Wk; gpsh];bf; mWit rpfpr;ir epWtdj;ij ve;j 
ehL njhlq;fpAs;sJ? 
a. mnkupf;fh  b. ,e;jpah  c. gq;fshNj~;  d. rPdh 

 
7. Which ancient city of Iraq has been declared a UNESCO World Heritage site? 

a. Mosul   b. Babylon  c. Baghdad  d. Karbala 
<uhf;fpd; ve;j goikahd efuk; And];Nfhtpd; cyf ghuk;ghpa jskhf 
mwptpf;fg;gl;Ls;sJ? 
a. NkhRy;  b. ghgpNyhd ; c. ghf;jhj;  d. fu;ghyh 

 
8. The Asia‟s largest solar power plant is located in which state of India? 

a. Madhya Pradesh b. Gujarat c. Rajasthan  d. Uttarakhand 
Mrpahtpd; kpfg;nghpa #upa rf;jp Miy ,e;jpahtpd; ve;j khepyj;jpy; 
mike;Js;sJ? 
a. kj;jpag;gpuNjrk; b. F[uhj; c. ,uh[];jhd;  d. cj;jufhz;l; 

 
9. Which of the following country has launched its first underwater Military Museum? 

a. Cameroon  b. Botswana  c. Mauritius  d. Jordan 
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fPo;f;fz;ltw;Ws; ve;j ehL mjd; Kjy; ePUf;fbapy; ,uhZt mUq;fhl;rpafk; 
xd;iw mikj;Js;sJ? 
a. Nfk&d;  b. Nghl;];thdh c. nkhuPrpa]; d. N[hu;lhd; 

 
10. Name the Indian Origin who has been elected as the member of the International 

Olympic Committee (IOC) 
a. Narinder Batra   b. T. Seshan  
c. R.Ravindran    d. Narendra Kumar 
ru;tNjr xypk;gpf; FOtpd; (IOC) cWg;gpduhf Nju;e;njLf;fg;gl;l ,e;jpahit 
g+h;tPfkhf nfhz;ltupd; ngau; vd;d? 
a. eupe;ju; gl;uh    b. T. Nr~hd; 
c. R. utPe;jpud;    d. eNue;jpu Fkhu; 

 
11. Name the Indian origin who has been appointed as the Britain‟s home secretary? 

a. Priti Patel    b. Kishen Narsi 
c. Ajay Kumar Bhalla   d. Manoj Mukund Naravane 
,q;fpyhe;jpd; cs;Jiw nrayuhf epakpf;fg;gl;l ,e;jpahit G+u;tPfkhff; 
nfhz;ltupd; ngau; vd;d? 
a. g;upj;jp gl;Nly;   b. fp]d; eu;rp 

c. m[a;Fkhu; gy;yh   d. kNdh[; KFe;j; eutd; 
 

12. Who has been appointed as the Chairman of the Public Accounts Committee 
(PAC)? 
a. Adhir Ranjan Chowdhury b. Narinder Batra 
c. Umesh Kesavan   d. Gopi Nandhan  
nghJ fzf;Ff; FOtpd; (PAC) jiytuhf epakdk; nra;ag;gl;ltu; ahu;? 
a. mjPu; uQ;rd; nrsj;jpup  b. euPe;ju; gj;uh 
c. cNk~; Nfrtd;   d. Nfhgp ee;jd; 

 
13. The scheme Jal Shakthi Abhiyan launched by the Central government from New 

Delhi is related to  
a. Water Conservation   b. Clean ganga 
c. Mission Ganga    d. Desilting rivers 
kj;jpa murhq;fj;jhy; GJnly;ypapypUe;J njhlq;fg;gl;l [y; rf;jp mgpahd; jpl;lk; 
vjDld; njhlu;GilaJ? 
a. ePu; tsk;fhj;jy;  b. fq;if ejpia J}a;ikg;gLj;Jjy; 
c. kp~d; fq;if  d. ejpfs; J}u;vLg;G 

 
14. India‟s first elephant Rehabilitation Centre was launched in which state of India? 

a. Odisha   b. Kerala 
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c. Meghalaya   d. Arunachal Pradesh 
,e;jpahtpd; Kjy; ahidfs; kWtho;T ikaj;ij ve;j ,e;jpa khepyk; 
njhlq;fpAs;sJ? 
a. xbrh    b. Nfush 
c. Nkfhyah   d. mUzhr;ryg;gpuNjrk; 

 
15. Which city of Rajasthan has been declared as UNESCO world Heritage site? 

a. Udaipur  b. Jaipur  c. Jodhpur  d. Jaisalmer 
uh[];jhdpd; ve;j efuk; And];Nfhtpd; cyf ghuk;gupa jskhf mwptpf;fg;gl;lJ? 
a. cja;G+u;  b. n[a;G+u;  c. N[hj;G+u;  d. n[a;ry;khu; 

 
16. The States first – ever international commercial flight has been launched in which 

state? 
a. Gujarat b. Odisha  c. Madhya Pradesh d. West Bengal 
khepyj;jpd; Kjd;Kjy; ru;tNjr tzpfuPjpahd tpkhdj;ij njhlq;fpa khepyk; vJ? 
a. F[uhj; b. xbrh  c. kj;jpag;gpuNjrk;  d. Nkw;Ftq;fk; 

 
17. Which state has become the first Indian state to reserve 75% private jobs for local 

youths? 
a. Andhra Pradesh    b. Gujarat 
c. Bihar      d. Telangana 
75 rjtPj jdpahu; Ntiytha;g;Gfis mk;khepy cs;@u; ,isQu;fSf;fhf 
xJf;fpAs;s Kjy; ,e;jpa khepyk; vJ? 
a. Me;jpug;gpuNjrk;     b. F[uhj; 
c. gPfhu;      d. njYq;fhdh 

 
18. Which state has become the first Indian state to have water policy? 

a. Gujarat b. Meghalaya c. Tripura  d. West Bengal 
gpd;tUk; ve;j khepyk; jz;zPu; nfhs;ifia gpd;gw;Wk; Kjy; ,e;jpa khepyk;? 
a. F[uhj; b. Nkfhyah  c. jpupGuh  d. Nkw;F tq;fhsk; 
 

19. The 22nd National Conference on e-Governance 2019 was held in which state? 
a. Assam  b. Arunachal Pradesh c. Meghalaya d. Manipur 
kpd; MSif 2019-f;fhd 22-tJ Njrpa khehL ve;j khepyj;jpy; eilg;ngw;wJ? 
a. mrhk;  b. mUzhr;ryg; gpuNjrk; c. Nkfhyah  d. kzpg;G+u; 

 
20. Who has won gold at the 2019 World deaf Youth Badminton Championship held in 

Taiwan? 
a. Jerlin Anika   b. Manasi Joshi 
c. Girish Sharma  d. none of the above 
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ijthdpy; eilg;ngw;w 2019 cyf nrtpj;jpwd; mw;w ,isNahu; ghl;kpl;ld; 
rhk;gpad;~pg; Nghl;bapy; jq;fg;gjf;fk; ntd;wtu; ahh;? 
a. n[u;ypd; mdpfh  b. khdprp N[h~p 

c. fpup~; ru;kh   d. vtUkpy;iy 
 

21. Which country has won the FIFA Women‟s World Cup title held in France? 
a. France  b. England  c. United States  d. Netherland. 
gpuhd;];;’y; eilg;ngw;w FIFA ngz;fs; cyff; Nfhg;ig gl;lj;ij ntd;w ehL vJ? 

a. gpuhd;]; b. ,q;fpyhe;J c. mnkupf;fh  d. neju;yhe;J 
 

22. What is the position of India in 2019 Global Innovation Index (GII)? 
a. 52   b. 59   c. 55   d. 62 
2019 cyf GJik gl;baypy; (GII) ,e;jpahtpd; epiy vd;d? 
a. 52   b. 59   c. 55   d. 62 

 
23. The term „Utkarsh  2022 „ is related to which organisation 

a. NABARD  b. ICMR  c. RBI  d. ICAR 
“cj;fu;~; 2022” (Utkarsh 2022) ,g;gjk; fPo;f;fz;l ve;j epWtdj;Jld; 
njhlu;GilaJ? 
a. NABARD  b. ICMR  c. RBI  d. ICAR 

 
24. The GST Council has reduced GST Rate on Electrical Vehicles from 12% to – 

a. 5%   b. 0%   c. 7%   d. 8% 
GST FOthdJ kpd;dZ thfdq;fSf;fhd GST tuptpfpjj;ij 12% - ypUe;J 
vt;tsT rjtPjkhf Fiwj;Js;sJ? 
a. 5%   b. 0%   c. 7%   d. 8% 

 
25. The „Garuda – V‟ the joint Air Exercise between India and France was held in  

a. Dehradun  b. united States c. France   d. Maldives 
“fUlh – V” (Garuda - V) vd;w $l;L tpkhd gapw;rp ,e;jpah kw;Wk; gpuhd;]; 
ehl;Lf;fpilNa vq;F eilg;ngw;wJ? 
a. nl`;uh^d;  b. mnkupf;fh c. gpuhd;];  d. khyj;jPTfs; 

 
26. The NITI (National Institute for transforming India) Aayog has partnered with 

which social media to promote women entrepreneurs? 
a. Face book  b. Whats App c. Twitter d. Instagram 
ngz; njhopy;KidNthu;fis Cf;Ftpg;gjw;fhf epjp MNahf; mikg;G ve;j r%f 
Clfj;Jld; ,ize;Js;sJ? 
a. Face book  b. Whats App c. Twitter d. Instagram 
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27. The World Population day is celebrated on 
a. August 21  b. September 11 c. July 11  d. August 11 
cyf kf;fs;njhif jpdk; vg;NghJ nfhz;lhlg;gLfpwJ? 
a. Mf];l; 21  b. nrg;lk;gu; 11 c. [_iy 11  d. Mf];l; 11 

 
28. The world Hepatitis day is celebrated on 

a. September 28 b. August 28 c. July 28  d. July 12 
cyf n`g;gill;b]; jpdk; vg;NghJ nfhz;lhlg;gLfpwJ? 
a. nrg;lk;gu; 28  b. Mf];L 28 c. [_iy 28  d. [_iy 12 
 

29. The Global Tiger day is observed on? 
a. July 27  b. July 28  c. July 29  d. July 31 
cyf Gypfs; jpdk; filgpbf;fg;gLtJ? 
a. [_iy 27 b. [_iy 28  c. [_iy 29  d. [_iy 31 

 
30. Who has been appointed as the finance secretary of Tamil Nadu government? 

a. S. Krishnan   b. S. Shanmugam   
c. Rajesh Lakshmi  d. Virendra Kumar 
jkpo;ehL murpd; epjpr; nrayuhf epakdk; nra;ag;gl;ltu; ahu;? 
a. S. fpU~;zd;   b. S. rz;Kfk; 

c. uhN[~; yl;Rkp  d. tpNue;jpu Fkhu; 
 

31. Consider the following statements 
1. The 10th World Tamizh Conference was held in Chicago 
2. The book Tamil Peyargal Sooti Magizhvom was released by Minister for Tamil 

official language and culture 
Which of the above statement is true? 
a. 1   b. 2  c. Both d. None  
gpd;tUk; $w;Wfis Ma;f 
1. 10-tJ cyfj; jkpo; khehL rpfhNfhtpy; eilg;ngw;wJ. 
2. “jkpo;g;ngau;fs; #l;b kfpo;Nthk;” vd;w Gj;jfk; jkpo; mYtyf nkhop kw;Wk; 

gz;ghl;L mikr;ruhy; ntspaplg;gl;lJ. 
Nkw;fz;l $w;Wfspy; rupahdij Nju;T nra;f. 
a. $w;W 1  b. $w;W 2  c. ,uz;Lk;  d. vJTkpy;iy 

 
32. Who has been appointed as the Managing director (MD) and Chief Financial officer 

(CFO) of the world Bank? 
a. Kalraj Misra   b. Vikas Swarup  
c. James Michael  d. Anshula kant 
cyf tq;fpapd; Kjd;ik epjp mYtyu; kw;Wk; Nkyhz;ik ,af;Fduhf (MD) 
epakdk; nra;ag;gl;ltu; ahu;? 
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a. fy;uh[; kp];uh  b. tpfh]; ];tuk; 

c. N[k;]; ikf;Nfy;  d. md;Ryh fhe;j;  
 

33. Which state has become the first Indian state to get fund through World Bank‟s 
climate resilience program? 
a. Tamilnadu   b. Andhra Pradesh  
c. Kerala    d. Karnataka 
cyf tq;fpapd; fhyepiy khw;wj;ij vjpu;f;nfhs;Sk; jpl;lj;jpd; %ykhf epjp ngw;w 
Kjy; ,e;jpa khepyk; vJ? 
a. jkpo;ehL   b. Me;jpug;gpuNjrk; 

c. Nfush    d. fu;ehlfh 
 

34. India‟s first space park will be set up in which state? 
a. Karnataka  b. Kerala c. Tamilnadu d. Andhra Pradesh 
,e;jpahtpd; Kjy; tpz;ntsp G+q;fh ve;j khepyj;jpy; mika cs;sJ? 
a. fu;ehlfh    b. Nfush 
c. jkpo;ehL    d. Me;jpug;gpuNjrk; 
 

35. The first-ever global conference for media freedom was held in which country? 
a. United states  b. India  c. Japan  d. London 
Clf Rje;jpuj;jpw;fhd Kjd;Kjy; cyfshtpa khehL ve;j ehl;by; eilg;ngw;wJ? 
a. mnkupf;fh  b. ,e;jpah  c. [g;ghd;  d. yz;ld; 
 

36. Which state has decided to bring legislation in the assembly for ensuring the job 
security of Journalists in the State? 
a. Gujarat b. Tamilnadu c. Telangana  d. West Bengal 
gpd;tUk; ve;j khepyk; gj;jpuf;ifahsu;fspd; gzp ghJfhg;ig cWjpg;gLj;jtJ 
Fwpj;J mk;khepy rl;lrigapy; KbntLj;Js;sJ? 
a. F[uhj; b. jkpo;ehL  c. njYq;fhdh d. Nkw;F tq;fhsk; 

 
37. The Kosi-Mechi Interlinking project for interlinking Kosi and Mechi rivers related to 

which state? 
a. West Bengal  b. Odisha  c. Maharashtra  d. Bihar 
Nfhrp kw;Wk; nkf;fp ejpfis ,izg;gjw;fhd Nfhrp-nkf;fp ejpePh; ,izg;Gj; jpl;lk; 
ve;j khepyj;Jld; njhlh;GilaJ? 
a. Nkw;F tq;fk; b. xbrh  c. kfhuh~;buk;  d. gPfhh; 

  
38. Which state has become the first state in India to implement the National Policy on 

Biofuels? 
a. Rajasthan b. West Bengal c. Gujarat  d. Andhra Pradesh 
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caphp vhpnghUl;fs; Fwpj;j Njrpaf; nfhs;ifia eilKiwg;gLj;jpAs;s Kjy; 
khepyk; vJ? 
a. ,uh[];jhd; b. Nkw;F tq;fk; c. F[uhj;  d. Me;jpugpuNjrk; 

 
39. Consider the following statements 

1. The state Uttar Pradesh has created a world record by    planting more than 22-
Crore saplings. 

2. To mark the 77th anniversary of Quit India Movement  
3. The State Government has launched a mega afforestation drive „Vriksharopan 

Mahakumbh‟ with target to plant 22 Crore saplings in a day 
Which of the above Statement is true? 
a. 1 & 2  b. 2 & 3  c. 1 & 3  d. 1, 2 & 3 
gpd;tUk; $w;Wfis Ma;f 
1. cj;jpugpuNjr khepyk; 22 Nfhbf;Fk; mjpfkhd kuf;fd;Wfis el;L cyf 

rhjid gilj;Js;sJ 
2. nts;isaNd ntspNaW ,af;fj;jpd; 77tJ Mz;bid epidT $h;e;jJ 
3. khepy murhdJ xU nghpa fhL tsh;g;G ,af;fj;ij (Vriksharopan 

Mahakumbh) njhlq;fpAs;sJ. xU ehspy; 22 Nfhb kuf;fd;Wfis el ,yf;F 
eph;zapj;Js;sJ. 

Nkw;fz;l $w;Wfspy; rhpahdit vit? 
a. 1 & 2  b. 2 & 3  c. 1 & 3  d. 1, 2 & 3 

  
40. The thematic underground British – era Bunker turned museum was launched in 

which State? 
a. Chennai, Tamil Nadu b. Hyderabad, Telangana 
c. Mumbai, Maharashtra d. Bangalore, Karnataka 
Mq;fpNyah; fhyj;jpa epyj;jb gJq;Ff;FopahdJ mUq;fhl;rpafkhf ve;j 
khepyj;jpy; khw;wg;gl;Ls;sJ? 
a. nrd;id> jkpo;ehL  b. i`juhghj; njYq;fhdh 
c. Kk;ig> kfhuh~;buk; d. ngq;f@U> fh;ehlfk; 

 
41. The Farmers Financial Assistance Programme was launched in which state of India? 

a. Bihar  b. Maharashtra  c. Odisha  d. Jharkhand  
tptrhapfSf;fhd epjp cjtpj; jpl;lj;ij njhlq;fpAs;s ,e;jpahtpd; khepyk; vJ? 
a. gPfhh;  b. kfhuh~;buk;  c. xbrh  d. [hh;f;fz;l; 

 
42. Which country has launched the world‟s first floating nuclear reactor „Akademik 

Lomonosov‟ – across the Arctic?  
a. Germany  b. France  c. Russia  d. Japan 
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cyfpd; Kjy; kpjf;Fk; mZ ciyia (Akademik Lomonosov) Mh;l;bf; gFjpapy; 
epWtpAs;s ehL vJ? 
a. n[h;kdp  b. gpuhd;R  c. ,u~;ah  d. [g;ghd; 

 
43. Which country has inaugurated the Gandhi Nagar Model Village with Indian 

Assistance? 
a. Nepal   b. Srilanka  c. Bhutan  d. Bangladesh 
ve;j ehL ,e;jpahtpd; cjtpAld; fhe;jp efh; khjphp fpuhkq;fis cUthf;fj; 
njhlq;fpAs;sJ? 
a. Neghsk;  b. ,yq;if  c. g+lhd;  d. tq;fNjrk; 
 

44. Which museum has become the most visited museum in the Asian sub-continent? 
a. Virasat – e – Khalsa  b. Salar Jung Museum 
c. Victoria Memorial Hall  d. Birmingham Museum of Art  
Mrpa Jizf;fz;lj;jpy; mjpfk; ghh;itaplg;gl;l mUq;fhl;rpafk; vJ? 
a. tpuhrl; - , - fy;rh  b. ryhh; [q; mUq;fhl;rpafk; 
c. tpf;Nlhhpah epidT kz;lgk; d. gph;kpq;fhk; fiy mUq;fhl;rpafk; 

 
45. Which country is the world‟s largest emitter of anthropogenic Sulphur Dioxide 

(SO2) according to the report released by an Environmental NGO Greenpeace? 
a. India  b. United States  c. China  d. Britain 
#oypay; muR rhuh epWtdkhd gRik mikjp ntspapl;Ls;s mwpf;ifapd;gb 
kdpjdhy; cUthf;fg;gLk; ry;gh; il Mf;iril (SO2) cyfstpy; kpf mjpfkhf 
ntspapLk; ehL vJ? 
a. ,e;jpah b. mnkhpf;fh  c. rPdh  d. ,q;fpyhe;J 
 

46. Which State has attained the top position in free Medicine Scheme implementation 
under the national Health Mission? 
a. Tamil Nadu  b. Bihar c. Rajasthan  d. Andhra Pradesh 
Njrpa Rfhjhug; gzpapd; fPo; ,ytr kUe;J jpl;lj;ij nray;gLj;jpajpy; 
Kjyplj;ij vl;bapUf;Fk; khepyk; vJ? 
a. jkpo;ehL  b. gPfhh; c. ,uh[];jhd; d. Me;jpug;gpuNjrk; 
 

47. What is the position of India in the world digital competitiveness rankings? 
a. 44  b. 67  c. 68  d. 23 
cyf vz;k (digital) Nghl;bj;jpwd; ju thpirapy; ,e;jpah ve;j ,lk; tfpf;fpwJ? 
a. 44  b. 67  c. 68  d. 23 

 
48. Which State has attained the top position in processing of solid waste in India? 

a. Andhra Pradesh & Telangana b. Tamil Nadu & Telangana 
c. Chhatisgarh & Telangana d. Madhya Pradesh & Tamil Nadu 
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jplf;fopT Nkyhz;ikapy; Kd;dpiyapYs;s ,e;jpa khepyq;fs; vit? 
a. Me;jpugpuNjrk; & njYq;fhdh b. jkpo;ehL & njYq;fhdh 
c. rl;b~;fh; & njYq;fhdh  d. kj;jpagpuNjrk; & jkpo;ehL 

 
49. What is the position of India in the Water Stress Index – 2019? 

a. 56th   b. 46th   c. 76th  d. 36th  
ePh; mOj;jf;FwpaPL (water stress index) 2019,y; ,e;jpahtpd; ,lk; vd;d? 
a. 56  b. 46   c. 76  d. 36 
 

50. Which of the following state has introduced the National Citizen‟s Record? 
a. Meghalaya  b. Manipur c. Arunachal Pradesh d. Assam 
gpd;tUk; khepyq;fspy; Njrpa Fbkf;fs; gjpit mwpKfg;gLj;jpAs;s khepyk; vJ? 
a. Nkfhyah  b. kzpg;g+h; c. mUzhr;rygpuNjrk; d. m];]hk; 

 
51. Who has been appointed as the chairman of the committee on Corporate Social 

Responsibility (CSR) which recommended CSR expenditure to be made tax 
deductible expenditure?  
a. Rajiv Kumar   b. Injeti Srinivas 
c. Atanu Chakraborty  d. Siddhartha Mohanty 
ngUepWtd r%f nghWg;Gf;fhd (CSR) FOtpd; jiytuhf epakdk; nra;ag;gl;lth; 

ahh;>  ,f;FO CSR ,d; nrytpdq;fis thptpyf;F nrytpdq;fshf khw;w ghpe;Jiu 
nra;jJ? 
a. ,uh[Pt; Fkhh;  b. ,Q;nrl;b =epth]; 
c. mlhD rf;uth;j;jp  d. rpj;jhh;j;jh Nkhfd;b 

 
52. Who has been appointed as the member of the Athletes Commission of the Asian 

Athletics Association (AAA)? 
a. PT Usha      b. PV Chitra  c. Hima Das  d. All the above 
Mrpa jlfs rq;fj;jpd; (AAA) jlfs Mizaj;jpy; cWg;gpduhf epakdk; 
nra;ag;gl;Ls;sth; ahh;? 
a. P.T. c~h  b. P.V. rpj;uh c. `pkhjh]; d. ,it midj;Jk; 
 

53. Who has become the India‟s first female commander of a flying unit of the Indian 
Air Force? 
a. Sonia Narang  b. Sanjukta Parashar 
c. R.Sreelekha   d. Shalija Dhami 
,e;jpa tpkhdg;gilapd; gwf;Fk; myfpy; ,e;jpahtpd; Kjy; ngz; jsgjpahf 
nghWg;Ngw;Ws;sth; ahh;? 
a. Nrhdpah euq;  b. rQ;Rf;jh guhrh; 
c. R. =Nyfh   d. ~yp[h jhkp 
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54. Who has been appointed as the Chairman of the committee formed by National 

Green Tribunal (NGT) to examine illegal sand mining in Yamuna River? 
a. Girraj Prasad Gupta  b. Harshad Pandurang Thakur 
c. Adharsh kumar Goel  d. Madhu Deora 
aKid Mw;wpy; rl;ltpNuhjkhf ,aq;Fk; kzy; Ruq;fq;fis Ma;T nra;a Njrpa 
gRikj; jPh;g;ghak; mikj;j FOtpd; jiytuhf epakpf;fg;gl;lth; ahh;? 
a. fpuh[; gpurhj; Fg;jh  b. `h;rj; ghz;Luq; jhf;$h; 

c. Mjh;~; Fkhh; Nfhay;  d. kJ jpNahuh 
 

55. Who is the father of Indian space Programme for whose 100th Birth Anniversary 
google dedicated a doodle for him? 
a. Vikram Sarabhai   b. A.P.J. Abdulkalam 
c. Homi J. Bhabha   d. Annadurai 
,e;jpa tpz;ntspj; jpl;lj;jpd; je;ij ahh;> mtUila 100tJ gpwe;j ehspy; $Fs; 
mtUf;fhf ^Ly; xd;iw mh;g;gzpj;jJ? 
a. tpf;uk; rhuhgha;   b. A.P.J. mg;Jy;fyhk; 

c. N`hkp J. ghgh   d. mz;zhJiu 
 

56. Which of the following postal divisions has been conferred with “Revenue 
Generation Award as part of Regional Excellence Awards given to postal 
divisions”?  
a. Puducherry    b. Tambaram   
c. Chennai City North  d. All the above 
“mQ;ry; gphpTfSf;F toq;fg;gLk; gpuhe;jpa rpwg;G tpUjpd; xU gFjpahf tUtha; 
cUthf;fj;jpw;fhd tpUJ” ve;j mQ;ry; gphptpw;F toq;fg;gl;lJ? 
a. GJr;Nrhp    b. jhk;guk; 
c. tl nrd;id   d. ,it midj;Jk; 

 
57. Who has been conferred with Bharat Gaurav Award? 

a. Kapil Dev    b. Yuvraj Singh   
c. Saurav Ganguly   d. Rahul Dravid 
 
ghuj nfsut; tpUJ ahUf;F toq;fg;gl;lJ? 
a. fgpy;Njt;    b. Atuh[; rpq; 
c. nrsut; fq;Fyp   d. uhFy; buhtpl; 

 
58. Who has been honoured with the 2019 Ramon Magsaysay Award for his ethical 

journalism? 
a. Ravish Kumar b. Ishizawa  c. Sonam Wangchuk d. De Lima  
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jdJ newpKiw ,jopaYf;fhf 2019Mk; Mz;bd; uNkhd; kf;NrNr tpUJ toq;fp 
nfsutpf;fg;gl;lth; ahh;? 
a. utp~;Fkhh;  b. ,~prth c. Nrhdk; thq;rf;  d. B ypkh 

 
59. Who has won the TamilNadu government‟s Dr. A.P.J Abdul Kalam Award? 

a. M.S.Swaminathan   b. Mylsamy Annadurai 
c. Sowmya Swaminathan  d. Kailasavadivoo Sivan 
jkpof murpd; lhf;lh; A.P.J. mg;Jy; fyhk; tpUij ntd;wth; ahh;? 

a. M.S. Rthkpehjd;   b. kapy;rhkp mz;zhJiu 
c. nrskpah Rthkpehjd;  d. ifyhrtbT rptd; 
 

60. Who has been conferred with the UAE‟s highest civil honour „Order of Zayed‟? 
a. Narendra Modi  b. Pranab Mukherjee  
c. Ram Nath govind  d. Manmohan Singh 
If;fpa muG ehLfspd; cahpa muR khpahijahd “Order of Zayed” ahUf;F 
toq;fg;gl;Ls;sJ? 
a. eNue;jpuNkhb   b. gpuzhg; Kfh;[p 
c. uhk;ehj; Nfhtpe;j;  d. kd;Nkhfd; rpq; 

 
61. Which of the following Organisation awards „Women Transforming India (WTI)? 

a. Union Ministry of women & Child Development 
b. All India Women‟s Association 
c. NITI Aayog 
d. None 
“,e;jpahit khw;Wk; ngz;fs; (WTI)” vd;w tpUjpid toq;Fk; mikg;G vJ? 

a. ngz;fs; kw;Wk; Foe;ijfs; Nkk;ghl;L mikr;rfk; 
b. midj;jpe;jpa kfsph; rq;fk; 
c. epjp MNahf; 
d. VJkpy;iy 

 
 

62. „Op – Blue Freedom‟ is related to which sports? 
a. Parasliding b. Swimming c. Scuba diving  d. Water Polo 
“Op – Blue freedom” vd;gJ ve;j tpisahl;Lld; njhlh;GilaJ? 
a. rWf;F tpisahl;L  b. ePr;ry;  

c. Mo;fly; ePr;ry;  d. jz;zPh; ge;jhl;lk; 
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63. Match the following: 
A. World day against Trafficking in Persons 1. July 30 
B. World Biofuel Day     2. Aug 9 
C. World Tribe Day     3. Aug 10 
D. World Youth Day     4. Aug 12 
 A B C D 
a.  1 2 3 4 
b. 1 3 2 4 
c. 4 2 3 1 
d. 4 3 2 1 
nghUj;Jf 
A. egh;fs; flj;jYf;F vjpuhd cyf jpdk; 1. [{iy 30 
B. cyf caphp vhpnghUs; ehs;   2. Mf];l; 9 
C. cyf goq;Fb ehs;    3. Mf];l; 10 

D. cyf ,isQh; jpdk;    4. Mf];l; 12 
 A B C D 
a.  1 2 3 4 
b. 1 3 2 4 
c. 4 2 3 1 
d. 4 3 2 1 

 
64. Match the following: 

A. World Organ Donation Day  1. August 12 
B. World Elephant Day   2. August 13 
C. World Photography Day   3. August 19 
D. World Senior Citizens Day  4. August 21 
 A B C D 
a.  1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
nghUj;Jf 
A. cyf cWg;G jhd jpdk;  1. Mf];l; 12 
B. cyf ahidfs; jpdk;   2. Mf];l; 13 

C. cyf Gifg;glf;fiy jpdk;  3. Mf];l; 19 
D. cyf %j;j Fbkf;fs; jpdk;  4. Mf];l; 21 

 A B C D 
a.  1 2 3 4 
b. 2 1 3 4 
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c. 1 2 4 3 
d. 2 1 4 3 

 
65. Match the following: 

A. World Humanitarian Day   1. August 2  
B. National Sports Day/International Day  2. August 12 
against Nuclear Test  
C. World Wide Web Day    3. August 19 
D. International Left Handers Day   4. August 29 
 A B C D 
a.  1 2 3 4 
b. 3 4 1 2 
c. 3 4 2 1 
d. 4 3 2 1 
nghUj;Jf 
A. cyf kdpjhgpkhd ehs;    1. Mf];l; 2 

B. Njrpa tpisahl;L jpdk; / mZrf;jp 2. Mf];l; 12 
Nrhjidf;F vjpuhd rh;tNjr ehs; 
C. cyfshtpa tiy (www) jpdk;  3. Mf];l; 19 

D. rh;tNjr ,lJif gof;fKs;sth; jpdk; 4. Mf];l; 29 
 A B C D 
a.  1 2 3 4 
b. 3 4 1 2 
c. 3 4 2 1 
d. 4 3 2 1 

 
66. Match the following: 

A. World Mosquito Day    1. August 20  
B. World Sanskrit Diwas    2. August 10 
C. World Lion Day     3. August 15 
D. International Day for the Remembrance 4. August 23 
of the slave trade & its abolition  
 A B C D 
a.  1 2 3 4 
b. 3 1 2 4 
c. 1 3 2 4 
d. 4 3 2 1 
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nghUj;Jf 
A. cyf nfhR jpdk;      1. Mf];l; 20 
B. cyf rk];fpUj ehs;     2. Mf];l;; 10 

C. cyf rpq;fq;fs; jpdk;     3. Mf];l; 15 
D. mbik th;j;jfk; kw;Wk; mjd; xopg;ig epidT 4. Mf];l; 23 
$Wk; rh;tNjr jpdk;       
 A B C D 
a.  1 2 3 4 
b. 3 1 2 4 
c. 1 3 2 4 
d. 4 3 2 1 

 
67. The One Nation – One Ration Card scheme was launched in which of the following 

states from 1st August, 2019? 
a. Uttar Pradesh, Madhya Pradesh, Kerala and Gujarat 
b. Assam, Maharashtra, Gujarat and Uttar Pradesh 
c. Telangana, Andhra Pradesh, Maharashtra and Gujarat 
d. Kerala, Karnataka, Andhra Pradesh and Telangana 
Mf];l; 1> 2019 md;W xU Njrk; xU FLk;g ml;il jpl;lk; gpd;tUk; ve;nje;j 
khepyq;fspy; njhlq;fg;gl;lJ? 
a. cj;jpug;gpuNjrk;> kj;jpa gpuNjrk;> Nfush kw;Wk; F[uhj; 
b. mrhk;> kfhuh~;buk;> F[uhj; kw;Wk; cj;jpug;gpuNjrk; 
c. njYq;fhdh> Me;jpug;gpuNjrk;> kfhuh~;buk; kw;Wk; F[uhj; 
d. Nfush> fh;ehlfk;> Me;jpug;gpuNjrk; kw;Wk; njYq;fhdh 

  
68. Which state has launched the „Vhali Dikri Yojana‟ for the welfare of girl child? 

a. Odisha b. Gujarat  c. Madhya Pradesh d. Bihar 
ngz; Foe;ijfspd; eyDf;fhd „Vhali Dikri Yojana‟ ve;j khepyj;jpy; 
njhlq;fg;gl;Ls;sJ? 
a. xbrh  b. F[uhj;  c. kj;jpag;gpuNjrk;  d. gPfhh; 

 
69. Which state has launched the „Mahatma Gandhi Sarbat Sehat Bima Yojana‟ health 

insurance scheme?  
a. Tamil Nadu  b. Kerala  c. Punjab  d. Haryana 
“kfhj;kh fhe;jp rh;gj; Nr`j; gPkh Nah[dh vDk; Rfhjhu fhg;gPl;L jpl;lj;ij 
njhlq;fpAs;s khepyk; vJ? 
a. jkpo;ehL  b. Nfush  c. gQ;rhg;  d. `hpahdh 

 
70. Which of the following organisation introduced „Aspirational District Scheme? 

a. NITI Aayog  b. ISRO   
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c. DRDO   d. Ministry of human resource and development 
„Aspirational district‟ jpl;lj;ij gpd;tUk; ve;j mikg;G mwpKfg;gLj;jpaJ? 
a. epjp MNahf;  b. ISRO 
c. DRDO  d. kdpjts Nkk;ghl;L mikr;rfk; 
 

71. Which state has launched the „Special Grievance Redressal scheme‟? 
a. Andhra Pradesh  b. Tamil Nadu c. Telangana d. Kerala  
“rpwg;G Fiw jPh;f;Fk; jpl;lk;” ve;j khepyj;jpy; njhlq;fg;gl;Ls;sJ? 
a. Me;jpug;gpuNjrk;  b. jkpo;ehL  c. njYq;fhdh d. Nfush 

 
72. The researchers of which IIT has developed low cost blood test device? 

a. IIT kharagpur b. IIT Madras c. IIT Kanpur d. IIT Delhi 
ve;j IIT Ma;thsh;fs; kypT tpiy ,uj;j ghpNrhjid rhjdj;ij 
cUthf;fpAs;sdh;? 
a. IIT fhuf;g+h;  b. IIT nkl;uh]; c. IIT fhd;g+h; d. IIT nly;yp 

 

73. The India‟s first Private Space Science Museum was opened in 
a. Pune  b. Hyderabad  c. Bangalore  d. Chennai 
,e;jpahtpd; Kjy; jdpahh; tpz;ntsp mwptpay; mUq;fhl;rpafk; vq;F 
jpwf;fg;gl;Ls;sJ? 
a. g+dh  b. i`juhghj;  c. ngq;f@U d. nrd;id 
 

74. Match the following: 
Place    GI Tag 
A. Odisha  1. Rasagula & Kandhamal Haldi  
B. Karnataka  2. Sirsi supari 
C. Kerala   3. Shahi Litchi 
D. Bihar   4. Marayoor Jaggery  

A B C D 
a.  1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 3 2 4 
nghUj;Jf 
,lk;   Gtprhh; FwpaPL 
A. xbrh   1. urFy;yh & fe;jkhy; `hy;b 

B. fh;ehlfk;  2. rph;rp Rghhp 
C. Nfush  3. ~h`p ypl;rp 

D. gPfhh;   4. kiwa+h; nty;yk; 
A B C D 

a.  1 2 3 4 
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b. 1 2 4 3 
c. 2 1 3 4 
d. 1 3 2 4 
 

75. The 52nd ASEAN Foreign Minister‟s Meeting (AMM-52) was held in which of the 
following country from 29th July to August 3rd, 2019? 
a. Bangkok, Thailand  b. Seoul, South Korea 
c. Beijing, China   d. New Delhi, India 
52MtJ ASEAN ntspAwTj;Jiw mikr;rh;fs; re;jpg;G (AMM-52) 29 [{iy 2019 
Kjy; 3 Mf];l; 2019 tiu ve;j ehl;by; eilngw;wJ? 
a. Ngq;fhf;> jha;yhe;J  b. rpNahy;> njd;nfhhpah 
c. nga;[pq;> rPdh   d. GJjpy;yp> ,e;jpah 

 
76. The sum of the present ages of a father and his son is 60 years.  Six years ago, 

father‟s age was five times the age of the son.  After 6 years, what is the son‟s age? 
a. 12 years  b. 14 years  c. 18 years  d. 20 years 
je;ij kw;Wk; kfdpd; jw;Nghija taJfspd; $Ljy; 60 tUlq;fs;.  6 
tUlq;fSf;F Kd;G> je;ijapd; taJ kfdpd; taijg; Nghy; 5 klq;F vdpy; 6 
tUlq;fSf;Fg; gpwF kfdpd; taJ vd;d? 
a. 12 tUlq;fs;  b. 14 tUlq;fs;  c. 18 tUlq;fs;  d. 20 tUlq;fs;  

 
77. The ages of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio 

11:15.  The age of Sumit is 
a. 32 years  b. 42 years  c. 48 years  d. 56 years 
tpNtf; kw;Wk; Rkpj; Mfpa ,Uthpd; taJfspd; tpfpjk; 2:3. 12 Mz;LfSf;F gpwF 
mth;fspd; taJ tfpjk; 11:15 vdpy; Rkpj;jpd; taJ 
a. 32 tUlq;fs; b. 42 tUlq;fs;  
c. 48 tUlq;fs; d. 56 tUlq;fs; 

 
78. Ratio of ages of Muthu and Karthi at present is 5 : 3. But 6 years  ago that ratio is 3 : 

1. What is the ratio of their ages after 5 years? 
a. 5 : 4  b. 10 : 7  c. 10 : 8  d. 4 : 3 
Kj;J kw;Wk; fhh;j;jp MfpNahhpd; jw;Nghija taJfspd; tpfpjk; 5:3. Mdhy; 6 
tUlq;fSf;F Kd; mJNt 3:1 vd ,Ue;jJ. vdpy;> jw;NghjpypUe;J 5 
tUlq;fSf;Fg; gpwF mth;fSila taJfspd; tpfpjk; vd;dthf ,Uf;Fk;? 
a. 5 : 4  b. 10 : 7  c. 10 : 8  d. 4 : 3 

 
79. 3 years ago the average age of a family of 5 members was 17 years.  After A baby 

born, the Average age of the family is the same today.  The present age of the baby 
is  
a. 1 year  b. 1 ½ years  c. 2 years  d. 3 years 
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%d;W tUlq;fSf;F Kd; 5 egh; nfhz;l FLk;gj;jpd; ruhrhp taJ 17 tUlq;fs;.  
xU Foe;ij gpwe;j gpd; mf;FLk;gj;jpd; ruhrhp taJk; mNj jhd; vdpy; 
mf;Foe;ijapd; jw;Nghija taJ  

a. 1tUlk; b. 1
1

2
tUlk; c. 2 tUlk;  d. 3 tUlk; 

 
80. At present Abi is twice as old as Reeta.  After seven years their age difference is 5 

years.  The present age of Reeta is 
a. 5   b. 7  c. 9  d. 10 
,d;W mgpapd; taJ hPl;lhtpd; taij Nghy ,U klq;F 7 tUlq;fSf;F gpd;dh; 
mth;fspd; taJ tpj;jpahrk; 5. vdpy; hPl;lhtpd; ,d;iwa taJ vd;d? 
a. 5   b. 7  c. 9  d. 10 
 

81. The ages of A and B are in the ratio 6:5 and the sum of their ages is 44 years. What 
will be the ratio of their ages after 8 years? 
a. 5 : 6  b. 7 : 8  c. 8 : 7  d. 14 : 13 
A, B f;fspd; taJ tpfpjk; 6:5 mt;tpUthpd; taJfspd; $Ljy; 44 Mz;Lfs; vdpy;> 
8 Mz;LfSf;Fg; gpwF mt;tpUthpd; taJfspd; tpfpjk; ahJ? 
a. 5 : 6  b. 7 : 8  c. 8 : 7  d. 14 : 13 

 
82. If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8 respectively 

then the sum of the ages of son and father in 2010 is 
a. 42   b. 43   c. 50   d. 45 
2014 kw;Wk; 2022 Mz;L kfd; kw;Wk; je;ij MfpNahhpd; taJfspd; tpfpjq;fs; 
KiwNa 1:4 kw;Wk; 3:8 vdpy; 2010 Mk; Mz;L kfd; kw;Wk; je;ij MfpNahhpd; 
taJfspd; $Ljy;. 
a. 42   b. 43   c. 50   d. 45 

 
83. The ages of A and B are in the ratio 3:1. Twenty years hence, the ratio will be 2 : 

1.Their present ages are... 
a.   60 & 20           b.   30 & 40           c.  65 & 25            d.   50 & 20 
A kw;Wk; B apd; jw;Nghija taJ 3 : 1.  20 Mz;LfSf;F gpwF> mth;fspd; 
taJ tpfpjk; 2 : 1> vdpy; mth;fspd; jw;Nghija taJ vt;tsT? 
a.   60 & 20           b.   30 & 40           c.  65 & 25            d.   50 & 20 

 
84. An article is sold at a gain of 15%.  Had it been sold for ì 27 more, the profit would 

have been 20%.  The cost price of the article is 
a. ì 500  b. ì 700  c. ì 540  d. ì 545 
xU nghUs; 15 tpOf;fhL ,yhgj;jpw;F tpw;gid nra;ag;gLfpwJ.  mJ NkYk; 27 
&gha; mjpfkhf tpw;gid nra;ag;gl;bUe;jhy;> ,yhgk; 20 tpOf;fhlhf ,Ue;jpUf;Fk;. 
me;jg; nghUspd; mlf;f tpiy vd;d  
a. ì 500  b. ì 700  c. ì 540  d. ì 545 
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85. A television set was sold for ` 1,170 after giving successive discounts of 35% and 

10% respectively. What was the marked price? 
a. 1800  b. 1700  c. 2000  d. 1900 
njhlh; js;Sgbfs; KiwNa 35% kw;Wk; 10% vd;wthW xU njhiyf;fhl;rpg; ngl;b 
&.1>170f;F tpw;fg;gl;lJ vdpy;> mjd; Fwpj;j tpiy vd;d? 
a. 1800  b. 1700  c. 2000  d. 1900 

 
86. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then sells 

it after allowing a discount of 20%. Find the profit percent. 
a. 5%   b. 4½ %  c. 4%    d. 6% 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F Nky; 
30% Fwpj;j tpiyf;F 20% js;Sgb nfhLf;fpwhh;. tpw;w tpiyapd; yhgk; % vd;d? 
a. 5%   b. 4 ½ %  c. 4%  d. 6% 

 
87. A Trader has 500 kg of rice, part of which he sells at 8% profit and the rest at 18 % 

profit. He gains 10 % on the whole. The quantity sold at 18 % profit is 
a. 100 kg  b. 200 kg   c. 300 kg   d. 400 kg 
xU tzpfh; jd;dplKs;s xU gFjp mhprpia 8 rjtpfpj yhgj;jpw;Fk; kPjpia 18 
rjtpfpj yhgj;jpw;Fk; tpw;gid nra;jjpy; nkhj;jKs;s 500 fpNyh mhprpf;F 10 
rjtpfpj yhgk; ngw;whh;. mth; 18 rjtpfpj yhgj;jpw;F tpw;w mhprpapd; msthdJ? 
a. 100 fpNyh b. 200 fpNyh c. 300 fpNyh  d. 400 fpNyh 

 
88. If 20% discount on the marked price and then another 5% discount on the new price 

is given then the overall discount is 
a.22%  b. 23.5%  c. 24%  d. 25% 
Fwpj;j tpiyapypUe;J 20% js;SgbAk;> ,e;j GJ tpiyapypUe;J NkYk; 5% 
js;SgbAk; nfhLf;fg;gl;lhy; nkhj;jj;jpy; js;Sgb  
a.22%  b. 23.5%  c. 24%  d. 25% 

 
89. A man sold two gas stoves for ` 8400 each. He sold one at a gain of 20% and the 

other at a loss of 20%. Find his gain or loss %in the whole transaction. 
a. Neither Profit nor Loss  b. Loss of 4%  
c. Profit of 4%    d. Loss of 16% 
xUth; ,U vhpthA mLg;Gfs; xt;nthd;iwAk; 8400f;F tpw;fpd;whh;. Kjy; mLg;ig 
20% ,yhgj;jpw;Fk; kw;wij 20% el;lj;jpw;Fk; tpw;fpd;whh; vdpy; ,yhgk; my;yJ 
el;l rjtPjj;ijAk; fhzTk;. 
a. yhg el;lkpy;iy   b. 4% el;lk; 
c. 4% yhgk;    d. 16% el;lk; 
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90. A sells a bicycle to B at a profit of 20% and B sells it to C at a profit of 25%.If C pays 
Rs. 1500, what did A pay for it ? 
a. Rs.825  b. Rs.900  c. Rs. 1100  d. Rs. 1000 
A xU kpjptz;bia B-f;F 20 rjtPj ,yhgj;jpw;F tpw;fpwhh;. B me;j kpjp tz;bia 

C-f;F 25 rjtPj ,yhgj;jpw;F tpw;fpwhh;. C me;j kpjp tz;bf;fhf &.1500 nfhLj;jhy;> 
mjw;fhf A nfhLj;j tpiy vt;tsT? 
a. &.825        b. &.900  c. &. 1100  d. &. 1000 

 
91. If the cost of 12 articles is equal to the selling price of 10 articles, the profit percent in 

the transaction is    
a. 18%   b. 16 2/3%   c. 20%  d. 25%  
12 nghUs;fspd; thq;fpa tpiyf;F 10 nghUs;fspd; tpw;w tpiyf;F rkk; vdpy; 
,e;j tpahghuj;jpy; fpilf;Fk; yhgk; rjtPjk;? 
a. 18%   b. 16 2/3%   c. 20%  d. 25%  

 
92. A man bought an old typewriter for ì 1200 and spent ì 200 on its repair.  He sold it 

for ì 1680.  His profit  per cent is: 
a. 20%  b. 10%  c. 8%   d. 16% 
xU egh; xU gioa jl;lr;Rg; nghwpia ì 1200 f;F thq;fp mijg; gOJ ePf;fk; 

nra;tjw;F ì 200 nryT nra;J> mij ì 1680f;F tpw;gid nra;jhh;.  mtUila 
,yhg tpOf;fhL: 
a. 20%  b. 10%  c. 8%   d. 16% 

 
93. The cost of a TV is Rs. 30000. The company offers it in 24 months, but charges 10% 

interest. Find the monthly installment the purchaser has to pay. 
a. Rs. 1500  b. Rs. 1200  c. Rs. 1600  d. Rs. 1400 
xU njhiyf;fhl;rpg; ngl;bapd; tpiy Rs. 30000. xU epWtdk; 10% ,j;njhifia 
tl;bAld; 24 khjj; jtizahfj; juyhk; vd;fpd;wJ. ,ij thq;Fgth; nrYj;j 
Ntz;ba khjj; jtiz vt;tsT?  
a. Rs. 1500  b. Rs. 1200  c. Rs. 1600  d. Rs. 1400 

 
94. If A‟s height is 25% less than that of B, then how much percent is B‟s height more 

than that of A?       

a. 50%  b. 45%  c. 
1

22
3

 %  d. 
1

33
3

% 

A-apd; caukhdJ B-apd; cauj;jpy; 25% Fiwthf cs;sJ vdpy; B-apd; cauk; 
A-apd; cauj;jpy; vt;tsT rjtPjk; mjpfkhf cs;sJ? 

a. 50%  b. 45%  c. 
1

22
3

 %  d. 
1

33
3

% 
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95. The boys and girls in a village are in the ratio 3 : 2. If 10% of the boys and 25% of the 
girls  are literates, find the percentage of students who are not literate    
a. 80%    b. 84%    c. 72%    d. 60%     
xU fpuhkj;jpy; Mz;fs; kw;Wk; ngz;fs; 3 : 2 vd;w tpfpjj;jpy; cs;sd. ,jpy; 
mz;fspy; 10% kw;Wk; ngz;fspy; 25% gbj;jth;fs; vdpy; gbg;gwpT ,y;yhj 
khzhf;fpahpd; rjtpfpjk; vd;d? 
a. 80%    b. 84%    c. 72%    d. 60%     

 
96. Due to increase of 30% in the price of a colour TV the sale is reduced by 40%. What 

will be the percentage change in income? 
a. 10% increase      b. 10% decrease  
c. 35% decrease   d. 22% decrease 
xU tz;z njhiyf;fhl;rp ngl;bapd; tpiyapy; 30% mjpfhpj;jjhy; 40% tpw;gid 
Fiwe;jJ vdpy; tUthapy; Vw;gLk; khw;wj;ij rjtPjj;jpy; $W. 
a. 10% mjpfhpg;G     b. 10% FiwT  
c. 35% FiwT   d. 22% FiwT 

 
97. If x% of y is equal to z, Then what percent of z is x? 

a. 
2

100

y
      b. 

2100

y
  c. 

100

y
  d. 

2100

y  
 

      yd; x% rjtPjkhdJ zf;F rkk; vdpy; x vd;gJ z-y; vj;jid rjtPjk;?  

      a. 
2

100

y
      b. 

2100

y
  c. 

100

y
   d. 

2100

y  
 

98. 15% of 578 + 22.5% of 644 = ? 
a. 231.4   b. 231.6  c. 231.8     d. 233.6 
578 y; 15% + 644 y; 22.5% =?  
a. 231.4   b. 231.6  c. 231.8     d. 233.6 
 

99. 00.15% of 
1

33 %
3

 of Rs. 10,000 is 

a. Rs. 0.05  b. Rs. 5  c. Rs. 105   d. Rs. 150 

&. 10>000 –y; 
1

33 %
3

 - y; 0.15% -d; kjpg;igf; fhz;f 

a. Rs. 0.05  b. Rs. 5  c. Rs. 105   d. Rs. 150 
 

100. In an election contest between two candidates, 10% of total voters did not take part. 
The candidate who was elected got 60% of the votes casted. If he got 180 votes more 
than his opponent, find total number of voters.  
a. 300   b. 900   c. 1000  d. 1800 
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,uz;L Ntl;ghsh;fSf;F ,ilapyhd xU Njh;jypy;> 10 rjtPj thf;fhsh;fs; 
thf;fspf;ftpy;iy.  ntw;wp ngw;w Ntl;ghsh;> gjpthd nkhj;j thf;Ffspy; 60 
rjtPjj;ijg; ngw;wpUf;fpwhh;.  mth; jd;Dila Nghl;b Ntl;ghsiu tpl 180 
thf;Ffs; $Ljyhfg; ngw;wpUf;fpwhh; vdpy;> nkhj;j thf;fhsh;fs; vj;jid Ngh;? 
a. 300   b. 900   c. 1000  d. 1800 
 

101. The difference between 78% of a number and 59% of the same number is 323.  What 
is 62% of that number? 
a. 1037   b. 1054  c. 1159  d. 1178 
xU Fwpg;gpl;l vz;zpd; 78% kw;Wk; 59% f;F ,ilNaahd tpj;jpahrk; 323 vdpy; 
mNj vz;zpd; 62% f;fhd kjpg;G vt;tsTk; ? 
a. 1037   b. 1054  c. 1159  d. 1178 

 
102. If numerator of fraction is increased by 20% and the denominator is decreased by 

5%, the value of the new fraction becomes 5/2. The original fraction is: 

a. 
24

19
   b. 

3

18
   c. 

95

48
  d. 

48

95
 

xU gpd;dj;jpd; njhFjp 20 rjtPjk; mjpfhpf;fg;gLfpwJ. mNj rkak; mjDila 
gFjp 5 rjtPjk; Fiwf;fg;gLfpwJ.  me;jg; Gjpa gpd;dj;jpd; kjpg;G 5/2 MFk;.  
vdpy;> %y gpd;dk;   

a. 
24

19
   b. 

3

18
   c. 

95

48
  d. 

48

95  
 

103. A sum 817 is divided among, A, B and C such that A receives 25% more than B and 
B received 25% less than C. What is the A share in the amount? 
a. 228   b. 247  c. 285  d. 304 
&.817 A, B, Cf;Fgphpj;jspf;fg;gLfpwJ. A-f;Ffpilf;Fk; njhifB-I tpl25%mjpfk;.B-
f;Ffpilf;Fk; njhifC-I tpl25%FiwTvdpy; A-d; gq;FahJ? 
a. 228   b. 247  c. 285  d. 304 

 
104. If A exceeds  B by 40%,  B is less than C by 20%, then A : C is :  

a. 28 : 25   b. 26 : 25  c. 3 : 2  d. 3 : 1 
A d; kjpg;G B ia tpl 40% mjpfk;> B apd; kjpg;G C I tpl 20% FiwT vdpy; 
A : C tpfpjk; ahJ? 
a. 28 : 25   b. 26 : 25  c. 3 : 2  d. 3 : 1 

 
105. The population of town 2 years ago was 62,500. Due to migration to big cities, it 

decreases every year at the rate of 4%. The present population of the town is: 
a. 56,700  b. 57,600  c. 58,800  d. 60,000 
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xU efuj;jpd; kf;fs;njhif ,uz;L Mz;LfSf;F Kd;G 62>500 nghpa efuq;fSf;F 
,lk;ngah;tjhy; me;efufj;jpd; kf;fs;njhif Mz;Lf;F 4% FiwfpwJ. 
me;efuj;jpd; jw;Nghija kf;fs;njhif vt;tsT? 
a. 56,700  b. 57,600  c. 58,800  d. 60,000 

 
106. The value of Xerox machine depreciates at the rate of 10 % per annum. If the cost of 

machine at present is Rs. 75,000 then what was the value of machine before 2 years?  
a. Rs. 90,000    b. Rs. 92,600 
c. Rs. 93,800    d. Rs. 95,000 
xU efy; vLf;Fk; ,ae;jpuj;jpd; tpiy Mz;Lf;F 10 rjtPjk; FiwfpwJ.  jw;NghJ 
me;j ,ae;jpuj;jpd; kjpg;G &. 75>000 vdpy;> 2 Mz;LfSf;F Kd;G me;j 
,ae;jpuj;jpd; kjpg;G vd;d? 
a. &. 90,000    b. &. 92,600 
c. &. 93,800    d. &. 95,000 

 
107. Priya bought a suitcase for ` 2,730. The GST for this item is 5%. What was the price 

of the suitcase before GST was added?  
a. ` 2600  b. ` 2800  c. ` 2700   d. ` 2650 
gphpah `2730f;F xU #l;Nf]; thq;fpdhh;. ,jd; kPJ kjpg;G $l;L thp 5% MFk;. 
kjpg;G $l;L thpiar; Nrh;f;Fk; Kd;dh; mg;ngl;bapd; tpiy vd;d?  
a. ` 2600  b. ` 2800  c. ` 2700   d. ` 2650 

 
108. In 30 litres mixture of acid the ratio of acid and water is 2 : 3. What amount of water 

should be added to the mixture so that the ratio of acid and water becomes 2 : 5. 
a. 19 litres  b. 15 litres  c. 12 litres  d. 10 litres 
30 ypl;lh; cs;s mkpyf; fyitapy; mkpyk;> ePhpd; tpfpjk; 2 : 3. ,f;fyit  2 : 5 
vd;w tpfpjj;jpy; mkpyKk; ePUk; ,Uf;f Nrh;f;f Ntz;ba ePhpd; msT vd;d? 
a. 19 ypl;lh;  b. 15 ypl;lh;  c. 12 ypl;lh;  d. 10 ypl;lh;  

 
109. Find the 4th proportional to 4, 16 and 7  

a. 26   b. 28   c. 24   d. 22 
4> 16> 7-d; ehd;fhtJ tpfpjj;ijf; fz;Lgpb.  
a. 26   b. 28   c. 24   d. 22 
 

110. Weekly incomes of two persons are in the ratio of 7:3 and their weekly expenses are 
in the ratio of 5:2. If each of them saves ` 300 per week, then the weekly income 
 of the first person is  
a. ` 7,500  b. ` 4,500  c. ` 6,300  d. ` 5,400 

  

http://www.appolosupport.com/


 
 

24 | Page                       www.appolosupport.com    PH: 9500099706        

 

,uz;L egh;fSila thu tUkhdk; 7:3 vd;w tpfpjj;jpYk;> thu nrytpdk; 5:2 vd;w 
tpfpjj;jpYk; cs;sd.  mth;fs; ,UtUNk thuk; &gha; 300 Nrkpf;fpd;wdh; vd;why; 
Kjy; eghpd; thu tUkhdk; ;vt;tsT?  
a. ` 7,500  b. ` 4,500  c. ` 6,300  d. ` 5,400 

 
111. If the ratio formed using the numbers 2, 5, x, 20 in the same order are in proportion 

then x is. 
a. 50   b. 4   c. 10   d. 8 
2, 5, x, 20 Mfpa vz;fis mNj thpirapy; gad;gLj;jp mikAk; tpfpjq;fs; tpfpj 
rkkhf ,Ug;gpd; x=? 
a. 50   b. 4   c. 10   d. 8 

 
112. If a : b = 3 : 2, b : c = 3 : 4, c : d = 2 : 3 find a : b : c : d 

a. 3 : 2 : 4 : 3  b. 9 : 6 : 8 : 6  c. 9 : 6 : 8 : 12 d. 3 : 6 : 8 : 12 
a : b = 3 : 2, b : c = 3 : 4, c : d = 2 : 3  vdpy; a : b : c : d -I fhz; 
a. 3 : 2 : 4 : 3  b. 9 : 6 : 8 : 6  c. 9 : 6 : 8 : 12 d. 3 : 6 : 8 : 12 

 
113. If the ratio of father's age to son's age is 4 : 1 and the product of their ages is 196, 

then ratio of their ages after 5 years will be 
a. 3 : 1   b. 10 : 3  c. 11 : 4       d. 14 : 5 
je;ij kw;Wk; kfdpd; taJ tpfpjk; 4 : 1 NkYk; mth;fs; ,Uthpd; tajpd; 
ngUf;Fnjhif 196 vdpy; 5 tUlq;fSf;F gpd;dh; mth;fs; ,Uthpd; taJ tpfpjk; 
a. 3 : 1   b. 10 : 3  c. 11 : 4       d. 14 : 5 

 
114. Mani‟s and Vijay‟s salary is 4:5 and Vijay‟s and Kumar‟s salary is 2:3.  If Mani‟s 

salary has Rs. 800 the kumar‟s salary is?     
a. Rs. 1000  b. Rs. 1200  c. Rs. 1500  d. Rs. 2000 
kzp kw;Wk; tp[apd; rk;gsk; 4:5 kw;Wk; tp[a; kw;Wk; Fkhupd; rk;gs tpfpjk; 2:3.  
kzpapd; rk;gsk; &.800 vdpy;> Fkhupd; rk;gsk; ahJ? 
a. Rs. 1000  b. Rs. 1200  c. Rs. 1500  d. Rs. 2000 

 
115. The product of three number with the ratio 1:2:3 is 750 then the sum of their squares 

is 
a. 350   b. 600  c. 450   d. 400 
%d;W vz;fspd; ngUf;Fj;njhif 750 mitfspd; tpfpjk; 1 : 2 : 3 vdpy;        
mt;ntz;fspd; th;f;fq;fspd; $Ljy; 
a. 350   b. 600  c. 450   d. 400 
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116. 1 1 1
: :

x y z
 2 : 3 : 5, then x : y : z is 

a. 2 : 3 : 5  b. 6 : 10 : 15  c. 5 : 3 : 2  d. 15 : 10 : 6 
1 1 1

: :
x y z

 2 : 3 : 5, vdpy; x : y : z vd;gJ 

a. 2 : 3 : 5  b. 6 : 10 : 15  c. 5 : 3 : 2  d. 15 : 10 : 6 
 
 

117. Rs. 400 were distributed among 100 boys and girls so that each boy gets Rs. 5 and 
each girl Rs. 2.50. Find the number of boys? 
a. 45   b. 35   c. 25   d. 60 
&.400-I 100 rpWth; rpWkpaUf;F gphpj;jspf;fg;gLfpwJ. xt;nthU rpWtDk; &.5-k; 
xt;nthU rpWkpAk; &.2.50-k; ngWfpd;wdh; vdpy; rpWth;fspd; vz;zpf;ifia fz;lwp 
a. 45   b. 35   c. 25   d. 60 

 
118. If a : b = 5: 9 and b : c = 4 : 7 then a : b : c is 

a. 36 : 20 : 63   b. 36 : 63 : 20  c. 20 : 36 : 63  d. 63 : 36 : 20 
a : b = 5: 9  kw;Wk; b : c = 4 : 7 vdpy; a : b : c MdJ  
a. 36 : 20 : 63   b. 36 : 63 : 20  c. 20 : 36 : 63  d. 63 : 36 : 20 

 

119. An amount of Rs.420 is divided among A, B and C in the ratio 
1 5 7

: :
3 6 9

. Find B‟s part. 

a. 72   b. 85   c. 180  d. 168 

&.420I A, B kw;Wk; Cf;F 
1 5 7

: :
3 6 9

tpfpjj;jpy; gphpj;J nfhLj;jhy;>B-d; gq;F ahJ? 

a. 72   b. 85   c. 180  d. 168 
 

120. A horse and two cows together cost Rs. 680.  If a horse cost Rs. 80 more than a cow 
then the ratio of cost of horse and cow is   
a. 7:5  b. 5:7   c. 8:9   d. 9:8   
xU Fjpiu kw;wk; ,uz;L khLfspd; nkhj;j tpiy &. 680. xU Fjpiuapd; 
tpiyahdJ xU khl;bd; tpiyia tpl &. 80 mjpfk; vdpy; Fjpiu khl;bd; 
tpiyapd; tpfjkhdJ 
a. 7:5  b. 5:7   c. 8:9   d. 9:8   
 

121. Rs.1,870 are divided among A, B, C such that A gets 
2

3
 of what B gets and B gets 

1

4

of what C gets. Then B‟s share is 
a. Rs.210   b. Rs.240  c. Rs.330  d. Rs.360 

http://www.appolosupport.com/


 
 

26 | Page                       www.appolosupport.com    PH: 9500099706        

 

&.1>870-I A, B, C Mfpa %tUf;Fk;> B ngWtjpy; 
2

3
gq;fpid AAk;> C ngWtjpy; 

1

4

gq;fpid B-Ak; ngWk; tifapy; gfph;e;jspf;fg;gLfpwJ vdpy; B-d; gq;F vd;d?  
a. Rs.210   b. Rs.240  c. Rs.330  d. Rs.360 

 
 

122. The sum of the HCF and LCM of two numbers is 680 and LCM is 84 times the HCF. 
If one of the numbers is 56, the other is  
a. 84   b. 12   c. 8   d. 96 
,uz;L vz;fspd; kPr;rpW nghJ klq;F mjd; kPg;ngU nghJ fhuzpapd; 84 klq;fhf 
cs;sJ. xU vz; 56 Mf cs;sJ kw;Wk; kPr;rpW nghJ klq;F> kPg;ngU nghJ 
fhuzpapd; $Ljy; 680-vd;W ,Ue;jhy; kw;nwhU vz; vd;d? 

a. 84   b. 12   c. 8   d. 96 
 

123. Which of the followings is the least square number by which 12, 20 and 25 are 
exactly divisible?  
a. 100   b. 300   c. 900   d. 3600 
gpd;tUk; vz;fspy; 12> 20 kw;Wk; 25 My; kpfr; rhpahf tFgLk; kpfr; rpwpa th;f;f 
vz; vJ? 
a. 100   b. 300   c. 900   d. 36 

 
124. LCM of two numbers is 432 and their HCF is 72. If one number is 144, find the other 

numbers.  
a. 214  b. 215   c. 216   d. 218 
,uz;L vz;fspd; LCM 432 MFk;. Mjd; HCF MdJ 72Mf ,Ue;J> xU vz; 
144Mf ,Ue;jhy; mLj;j vz; 

a. 214  b. 215   c. 216   d. 218 
 

125. The LCM and HCF of two numbers are 45 and 3 respectively; their sum is 24, what 
is their difference? 
a. 2   b. 4   c. 6   d. 8 
,U vz;fspd; kP.rp.k kw;Wk; kP.ngh.t KiwNa 45> 3 kw;Wk; mtw;wpd; $Ljy; 24 
vdpy; mt;tpU vz;fspd; tpj;jpahrj;ij fhz;f: 
a. 2   b. 4   c. 6   d. 8 
 

126. Six bells commence tolling together, afterwards they toll at intervals of 2, 4, 6, 8, 10 
and 12 seconds respectively. In 30 minutes, how many times do they toll together? 
  
a. 4   b. 10   c. 15   d. 16 
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6 kzpfs; Kjypy; xd;whf mbf;Fk;. gpd;dh; mit xt;nthd;Wk; 2> 4> 6> 8>10 kw;Wk; 
12 tpdhbfs; ,ilntsp tpl;L mbf;Fk; vd;why;> 30 epkplj;jpy; vj;jid Kiw MW 
kzpfs; xd;whf Nrh;e;J xypj;jpUf;Fk;? 
a. 4   b. 10   c. 15   d. 16 

 

127. Find the greatest number that will divide 51, 99,191 so as to leave the same reminder 
in each case. 
a. 4  b. 7   c. 9   d. 8 
51> 99> 191 Mfpa vz;fis ve;j kpfg; nghpa vz;zhy; tFf;Fk; nghOJ kPjp 
rkkhf fpilf;Fk;? 
a. 4  b. 7   c. 9   d. 8 

128. The traffic lights at three different road crossings change after every 48 sec, 72 sec 
and 108 sec respectively.  If they all change simultaneously at 8:20:00 hours, then at 
what time will they again change simultaneously? 
a. 8:20:48 hrs  b. 8:21:12 hrs c. 8:21:48 hrs d. 8:27:12hrs 
%d;W ntt;NtW rhiyr; re;jpg;Gfspd; Nghf;Ftuj;J rkpf;iQ tpsf;Ffs; KiwNa 
xt;nthd;Wk; 48 tpdhbfs;> 72 tpdhbfs; kw;Wk; 108 tpdhbfSf;Fg; gpd; khWfpwJ.  
Mit vy;yhNk 8:20:00 kzpfspy; xNu Neuj;jpy; khwpdhy;>kPz;Lk; vg;NghJ mit 
xNu Neuj;jpy; khWk;? 
A. 8:20:48 kzp  B. 8:21:12 kzp C. 8:21:48 kzp D. 8:27:12 kzp 

 
129. Mary, Fathima and Seetha started running on the track at 4 p.m. and took 6 minutes, 

30 minutes and 5 minutes respectively to run around the track once. If they 
continued at the same speed after how much time will they meet at the starting 
point again? 
a.  90 minutes  b. 60 minutes c.  30 minutes d.120minutes 
Nkhp> ghj;jpkh kw;Wk; rPjh MfpNahh; jlthsj;jpy; khiy 4 kzpf;F Xlj;njhlq;fpdh;. 
xU Kiw jlthsj;ij flf;f 6> 30 kw;Wk; 5 epkplq;fs; mth;fSf;F Njitg;gl;lJ. 
mth;fs; mNj Ntfj;jpy; Xlj;njhlq;fpdhy;> mth;fs; Muk;g ,lj;ij mila %d;W 
NgUk; vLj;Jf; nfhs;Sk; Neuk; vt;tsT vd;gijf; $Wf 
a. 90 epkplq;fs;  b. 60 epkplq;fs; c. 30 epkplq;fs; d.120 epkplq;fs; 
 

130. Find the LCM of 12 (x - 1)3 and 15 (x - 1)(x+2)2 
a. 60(x-1)3(x+2)2 b. 60(x-1)  c. 3 (x-1)  d. 3(x-1)3 (x+2)2 
12 (× - 1)3 kw;Wk; 15 (× - 1)(x + 2)2 d; kP.rp.k fhz;f.  
a. 60(x-1)3(x+2)2 b. 60(x-1)  c. 3 (x-1)  d. 3(x-1)3 (x+2)2 

 
131. Find the G.C.D of x2+ 2xy +y2, (x+y)3 , 25(x2 – y2) 

a. x + y   b. x - y   c. –x + y   d. –x -y 
x2+ 2xy +y2, (x+y)3, 25(x2 – y2) - ,d; kP.ngh.t fhz;f. 
a. x + y   b. x - y   c. –x + y   d. –x –y 
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132. LCM and HCF of two polynomials are x6 – 1 and x + 1 respectively. if one of the 
polynomial is x3 + 1 then the other polynomial is 
a. x3 - 1  b. (x3 – 1)(x + 1) c. x6 - 1  d. ( x6 - 1)(x + 1) 
,U gy;YWg;Gf; Nfhitfspd; kP.ngh.k kw;Wk; kP.ngh.t Mfpad KiwNa x6 – 1 
kw;Wk;  x + 1 MFk;. xU Nfhit x3 + 1 vdpy; kw;nwhU Nfhit vJ? 
a. x3 - 1  b. (x3 – 1)(x + 1) c. x6 - 1  d. ( x6 - 1)(x + 1) 

 

133. L.C.M. of 
2 4 5 7

, , ,
3 9 6 12

 is  

a. 1
18

  b. 1
36

  c. 35
9

  d. 140
3

 

2 4 5 7
, , ,

3 9 6 12  
Mfpatw;wpd; kPr;rpW nghJklq;F  

a. 1
18

  b. 1
36

  c. 35
9

  d. 140
3

 

 
134. The numbers are in the ratio 15:11.  Their HCF is 13, which of the following pairs 

can they be? 
a. 194, 143  b. 195, 142  c. 195, 143  d. 196, 144 
,uz;L vz;fs; 15:11 vd;w tpfpjj;jpYs;s mitfspd; kP.ngh.t 13 vdpy;> fPNo 
nfhLf;fg;gl;l vz;fspy; vJthf ,Uf;f KbAk;? 
a. 194, 143  b. 195, 142  c. 195, 143  d. 196, 144 

 
135. A number when divided by 221 gives a remainder 43, what remainder will be 

obtained by dividing the same number 17? 
a. 11       b. 10      c. 9       d. 5 
Xh; vz;iz 221 My; tFf;Fk; nghOJ kPjp 43 fpilf;fpwJ> ,Nj vz;iz 17My; 
tFf;Fk; nghOJ fpilf;Fk; kPjp ahJ? 
a. 11       b. 10      c. 9       d. 5 

 

136. The product of n consecutive positive integers is divisible by 
a. (n+1)!  b. n!  c. (n-1)! d. (n+1)(n-1) 
mLj;jLj;j n vz;zpf;ifAs;s Nehpil KOf;fspd; ngUf;fw;gydhdJ vjdhy; 
tFgLk;? 
a. (n+1)!  b. n!  c. (n-1)! d. (n+1)(n-1) 

 

137. A number is doubled and 9 is added.  If the resultant is tribled, it becomes 75 what 
is that number ? 
a. 3.5   b. 6  c. 8   d. None of these 
xU vz;zpd; ,U klq;Fld; 9I $l;b tUk; tpil Kk;klq;fhf khw;wg;gl;lhy; tUk; 
tpil 75 vdpy;> me;j vz; ahJ? 
a. 3.5   b. 6  c. 8   d. vJTkpy;iy 
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138. Which of the following is/are true? 
1. All divisor of a number are also factors for that number   
2. All factors a number are also divisors for that number   
3. All divisors of a number need not be factors for that number   
4. All factors of a number need not be divisors for that number  
a. 2, 3  b. 1, 2  c. 1, 2, 3  d. All the four 
fPo;f;fz;ltw;Ws; vJ / vit rhpahdJ? 
1. Xh; vz;zpd; vy;yh tFj;jpfSk; mt;ntz;zpd; fhuzpfshFk; 
2. Xh; vz;zpd; vy;yh fhuzpfSk; mt;ntz;zpd; tFj;jpfshFk; 
3. Xh; vz;zpd; vy;yh tFj;jpfSk; mt;ntz;zpd; fhuzpahf ,Uf;fj; 

Njitapy;iy 
4. Xh; vz;zpd; vy;yh fhuzpfSk; mt;ntz;zpd; tFj;jpahf ,Uf;fj; 

Njitapy;iy 
a. 2, 3  b. 1, 2  c. 1, 2, 3  d. midj;Jk; 
 

139. Which of the following number is divisible by 9? 
a. 8576901  b. 96345210  c. 67594310  d. 2784224 
fPNo nfhLf;fg;gl;Ls;s vz;fspy; 9My; tFgLk; vz; ahJ? 
a. 8576901  b. 96345210  c. 67594310  d. 2784224 

 
140. The Largest, 4-digit number exactly divisible by 88 is 

a. 9944     b. 9768  c. 9988  d. 8888  
88-y; tFglf; $ba kpfg; nghpa ehd;F ,yf;f vz; vJ? 
a. 9944     b. 9768  c. 9988  d. 8888 

 
141. A number consists of two digits whose sum is 9.  The number formed by reversing 

the digits decreases twice the original number by 9.  Which is that original number? 
a. 63         b. 36        c. 62        d. 26 
Xh; ,U ,yf;f vz;zpd; ,yf;fq;fspd; $l;Lg;gyd; 9. ,yf;fq;fis ,lk; 
khw;Wtjd; %yk; cUthFk; Gjpa vz;zpd; kjpg;ghdJ vLj;Jf; nfhz;l <hpyf;f 
vz;zpd; kjpg;gpd; ,U klq;iftpl 9 FiwthfpwJ vdpy; vLj;Jf;nfhz;l <hpyf;f 
vz; vJ? 
a. 63         b. 36        c. 62        d. 26 

 
142. The average of 5 no‟s is 120.  Later it was found that instead of entering correct 

value 15, data is wrongly entered as 5.  Find the new correct average 
a. 120  b. 125  c. 126  d. 122 
5 vz;fspd; ruhrhp 120 MFk;.  gpd;dh; ,tw;wpy; xU vz; 15 vd;w rhpahd kjpg;ig 
tpl;L 5 vd;w jtwhd kjpg;ghf vLj;J ruhrhp fzf;fpl;lJ njhpa te;jJ.  Gjpa 
rhpahd ruhrhp vd;d? 
a. 120  b. 125  c. 126  d. 122 
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143. The average of 11 results is 50.  Average of first 6 results is 49 and that of last 6 
results is 52.  Find the sixth result. 
a. 58   b. 57   c. 56   d. 55 
11 KbTfspd; ruhrhp 50 MFk;.  Kjy; MW KbTfspd; ruhrhp 49 kw;Wk; filrp 6 
KbTfspd; ruhrhp 52 vdpy; 6tJ KbT vd;d? 
a. 58   b. 57   c. 56   d. 55 

 
144. The average of all the number between 6 and 34 which are divisible by 5  

a. 30  b. 20   c. 25   d. 40 
6 Kjy; 34 tiu cs;s 5-My; tFgLk; midj;J vz;fspd; ruhrhp  
a. 30  b. 20   c. 25   d. 40 

 
145. What is the difference between the sum of first 'n odd natural numbers and that of 

first 'n' natural numbers? 

a. 
n

1
2
   b. 

n(n 1)

2


  c. 

n(n 1)

2


      d. 

n(n 1)(2n 1)

6

 

 
Kjy; „n‟ xw;iw ,ay; vz;fspd; $LjYf;Fk; Kjy; „n‟ ,ay; vz;fspd; 
$LjYf;Fk; cs;s tpj;jpahrk; vd;d? 

a. 
n

1
2
   b. 

n(n 1)

2


  c. 

n(n 1)

2


      d. 

n(n 1)(2n 1)

6

 

 
 

146. The average age of 50 students in 10thstd class is 15 years. 10 more students are 
admitted a fresh in the class and the average age is increased by 0.5 years.  The 
average age of the newly jointed students is  
a. 15  b. 16   c. 17   d. 18 
10-k; tFg;G khzhf;fh;fspd; 50 Nghpd; ruhrhp mfit 15 MFk;.  10 khzhf;fh;fs; 
Gjpjhf Nrh;f;fg;gl;l gpd; ruhrhp mfit 0.5 Mz;L mjpfhpj;jJ. Gjpjhf Nrh;f;g;gl;l 
khzth;fspd; ruhrhp mfit 
a. 15  b. 16   c. 17   d. 18 

 
147. An employee spends on an average Rs. 2,500 for the first 8 months of  a year and Rs. 

1,500 for the next 4 months. If he saves Rs. 10,000 that year, then his monthly income 
is Rs.   
a. 2,500  b. 3,000  c. 2,600  d. 3,200 
xU gzpahsh; tUlj;jpd; Kjy; 8 khjq;fspy; ruhrhpahf &. 2>500-k;> mLj;j 4 
khjq;fspy; ruhrhpahf &.1>500-k; nryT nra;fpwhh;. mth; me;j Mz;by; &. 10>000 
Nrkpj;jhh; vd;why;> mtuJ khj Cjpak; _____ MFk;.  

a. 2,500  b. 3,000  c. 2,600  d. 3,200 
 

148. Which of the following is arranged in correct ascending order?  
a. 25% of 8,    40% of 6,   30% of 9,   20% of 15  

http://www.appolosupport.com/


 
 

31 | Page                       www.appolosupport.com    PH: 9500099706        

 

b. 20% of 15, 25% of 8,   30% of 9,   40% of 6 
c. 30% of 9,    40% of 6,   25% of 8,   20% of 15  
d. 20% of 15, 30% of 9,   40% of 6,   25% of 8 
 
gpd;tUtdtw;Ws; vJ rhpahd VWthpirapy; mike;Js;sJ? 
a. 25% of 8,    40% of 6,   30% of 9,   20% of 15  
b. 20% of 15, 25% of 8,   30% of 9,   40% of 6 
c. 30% of 9,    40% of 6,   25% of 8,   20% of 15  
d. 20% of 15, 30% of 9,   40% of 6,   25% of 8 

 
149. The numbers of Prime factors in 2222 × 3333 × 5555 is  

a. 3  b. 1107  c. 1110   d. 1272 
2222 × 3333 × 5555 –d; gfh fhuzpfspd; vz;zpf;if 
a. 3  b. 1107  c. 1110   d. 1272 

 

150. If the product of two number is 5 and one of the number is
3

2
, then the sum of the 

numbers is 

a. 
1

4
3

   b. 
2

4
3

   c. 
5

4
6

   d. 
1

5
6

 

,U vz;fspd; ngUf;Fj; njhif 5> mtw;wpy; xU vz; 
3

2
 vdpy; ,U vz;fspd; 

$LjyhdJ. 

a. 
1

4
3

   b. 
2

4
3

   c. 
5

4
6

   d. 
1

5
6
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TNPSC GROUP I test batch – 2020 

TEST XIII – MENTAL ABILITY & CURRENT AFFAIRS 
 

1 2 3 4 5 6 7 8 9 10 
C A B C B C B A D A 

11 12 13 14 15 16 17 18 19 20 
A A A B B C A B C A 

21 22 23 24 25 26 27 28 29 30 
C A C A C B C C C A 

31 32 33 34 35 36 37 38 39 40 
C D C B D D D A D C 

41 42 43 44 45 46 47 48 49 50 
D C B A A C A C B D 

51 52 53 54 55 56 57 58 59 60 
B A D C A D A A D A 

61 62 63 64 65 66 67 68 69 70 
C C B B B C C B C A 

71 72 73 74 75 76 77 78 79 80 
B A B B A D C B C A 

81 82 83 84 85 86 87 88 89 90 
C A A C C C A C B D 

91 92 93 94 95 96 97 98 99 100 
C A A D B D D B B C 

101 102 103 104 105 106 107 108 109 110 
B C C A B B A C B C 

111 112 113 114 115 116 117 118 119 120 
D C C C A D D C C A 

121 122 123 124 125 126 127 128 129 130 
C D C C C D A D C A 

131 132 133 134 135 136 137 138 139 140 
A B D C C B C A A A 

141 142 143 144 145 146 147 148 149 150 
B D C B B D B A C C 

 

http://www.appolosupport.com/

